£ 75140,

sf

A |+ - 1] = 2¢)

1.



P42k -a)x+k*+a*+b—-2=00°] A5 k2 gl
+Z 7H o, a + b 9] g ot



3. OolAFy =% —2ax—2b% —4da+4b -6 2] T I} xFof| e uf,

a® + b2 T2 (HF a, b= AF)

@ 2 @ 5 ® 8 @ 10 ® 13



T fx) = ax® + bx +c7F x = 194 =3 1& 7HA L
3= UEAL W, A a,b,coll HSEA a+ b+ c o] 22?

@ -3 ®1 @ 4 ®7



5. AEFREA x(r-1)(x+1)(x+2)-8 = 0 o BE 5] F& Fohn?

© -8 @ -2 ®1 @ 4 ® 8



AT A 13 - 5x2 +ax+ b =09
o= FHH? (H, a. b= )

\/5,2 @_1+\/§a_3
V2, -3 ® -1++v2,3

FHZol 1+ V2, o 7

®1-+2,3



® -1 @ 2 ® -2

1

@ o



A a=p°"H a+pae8 = L5 Aol
O©a=pLdm, eB=0°Ha=0c°th
© *+p>=0°"Ha=0,=0-0°lt}

ONQ) ® 0.0 ® ©.0
@® 9.0 ® 0.0.0



i B -1
z=-2 b= 2 ol disted w z+1

Fotelet (B, z &z o EE4doth)

&=
ct

olet

SH
=

o], w

w

94

s

o



@D -1<x<0

@ 0<x<1

@ -1<x<1

® 0<x<?2

® -1<x<2



sholat,

q_

O
=

x—l—y94 4k



the AL WR 9o 9l o] | e me] W Alolrt o] Tz} x
Zo] AR A% a, b o] 2] ol a+ b ] FHS F5HE?

y+(x+y)x+(a-1)x-5b>=0




2x+3y=8
13. (3y+5z=21 SYWtx=a y=p8z=y L, Fapy 2 &
97+ 2x =17
T-otofet.

> S
=%



=1

ofl A xy Q] Ft2 Fotolzt



a=a+bi(a besAg i= V-)¥dW, & =b+aizt?

® 2+i

his

0|
-

o,



16.

¥ 3ax+b =072 —axfc =02 FFL1
2a% + b —c7} H A7t HE a0 ZHe 9

@ -1 @0 @1 @ 2

o



17.

P 4ax+b=0, x>+bx+a=00° T 3L
-1<a<0¥ " a®+p* 9] HAGE M, 42 m
o] kg Fohw?

@® @ 2 ®

N W
N | Ot
®
w



the 5418 TEA]7]= o] obd A5=9] &M% (a,b) o] NGE2

_ 1
aJrB_a—i-b
ONM
@ 17}
3 270

@ Z47Fe] b(# 0) o thste] 1 A= Qe
® 717te] b(# 0) °fl ehskof 2 744 e,



19. A&
T X1, X2, X3,

’x97}~9+x1.xz.x3....
Vs o gtol = % gk 4
T



A7 f2 59 ol g4 y =
ES A v, WEA] ALt E o2
L A
ol 1

Y

E(2,-2)



